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Prototype

AFLOW prototype label
Mineral name

ICSD

Pearson symbol

Space group number
Space group symbol

AFLOW prototype command

Nb2OgSn
A2B6C_mC36-15_f_3f e-001
foordite

202827

mC36

15

C2/c

aflow --proto=A2B6C_mC36_15_f_3f_e-001
--params=a, b/a,c/a, B,y1, T2, Y2, 22, T3, Y3, 23, T4, Y4, 24, T5, Y5, 25

Base-centered Monoclinic primit

ive vectors

a3 = %a X - %b y
a; = saX+ by
ag = ccosfX+csinfz
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, = —y1 a1 +y1a2+ia3 = %ccosﬁk—l—byly—i—icsinﬁi (de) Snl
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yirar —yraz+ 7as

(2 —y2) a1 + (72 +y2) az +
Z9 asg

— (w2 +y2) a1 — (22 — y2) a2 —
(22— 3) a3

— (2 —y2) a1 — (22 + y2) ag —

Z2 as
(2 +y2) a1 + (22 — y2) az +
(2 + 1) 20
(3 —y3) a1 + (w3 +y3) az +
Z3as

— (w3 +y3) a; — (v3 —y3) az —
z3—3) as

—(z3—y3) a1 — (x5 +y3) ag —

Z3 as
(3 +y3) a1 + (z3 —y3) az +
(3 +3) a3
(v4 —ya) a1 + (74 +y4) a2 +
Z4 Asg

— (4 +ya) a1 — (x4 — ya) a2 —
24 — %) as
— (24 —ya) a1 — (x4 +y4) Az —
Z4 a3
(4 +ya) a1 + (4 —ya) az +
(24 + %) as
(x5 —ys) a1 + (z5 +ys5) a2 +
25 as

— (w5 +ys) a1 — (v5 —y5) az —

(7 —3) a

— (x5 —ys) a1 — (x5 + ys) az —
Z5 a3

(x5 +ys) a1 + (w5 — ys5) a2 +
(Z5 + %) as

%ccosﬁifbyl}“ur %csinﬁi

(axe + czocos B) X+ bya § + czos8in 52

—(axg—&-c(zg—%)cosﬁ) X+bys § —
0(22 - %) sin Bz

—(azg 4+ czoco8B) X —bya § — czosin Bz

(awy 4 c (224 3) cosB) X — by § +
0(22 + %) sin Bz

(axs + czzcos B) X+ bys§ + czgsin 5z

f(ax3+c(23f%)cosﬂ) X+bysy —
C(Zg — %) sin 8 Z

—(azg 4+ czgcosB) X —bysy — czzsin Bz

(azs +c(z3+ %) cosB) X —bys§ +
c(z;:,—l—%) sin 8 Z

(axg + czacos8B8) X+ bys§ + cz4sin Sz

—(am—&-c(z;;—%)cosﬁ) X+bysy —
C(Z4— %) sin 8z

—(axg 4+ cz4co8PB) X —bys § — cz4sin Bz

(aws+c (244 3)cosfB) X —bys§ +
c(z4—|— %) sin Bz

(axs + czscos B) X+ bys§ + czssin 5z

f(am5+c(z5f%)cos5) X+bysy —
c(z5 — %) sin 8 Z

—(azs + czscosB) X —bys § — czssin Bz

(aws 4+ c(z5 4+ 3) cos ) X — bys § +
¢(2z5+3)sinf2
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